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Electrical stores/ rToaster
.{ light butb
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Ohm's lawrelatethe voltageapplied toa wait tothecurrent that flows through
the circuit.
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If Visthe voltage applied,J II the intensity

of the current' an

, thenwhenuachangingWHAT we
CONNECTto that voltagelie's, when (achanging thermistor
VII aredirectly proporttired
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Consider the pilot of serious pagerIversus]on previous page.
Which of thetworesistors{ r,5I )is larger?

In circuits: K YI
L 2: V = RI

l

r,IR are but the slopesof those her
Henle,A 1>



Units =The unit of voltage[V)=V e"volts"

"In intensity
(also calledamperage)
...452]= AExampere" s

" " " resistance:#2= n [

"

ohms"

Remember! A I charge
secondth Nfughe cross. !section)ï
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Resistors INseriesï IN PPRALLZLï
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the same currant flows
through both resistors.
Hence, theyare connected in
Series.
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Question: -(an we substitute r, IRby one single Rthat
drawsthe sameanout of wraith?What should R be?

Fine: -is. f ....v

R JY
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theo SUMof bothvoltagedapsN,IV,must be= V



k= KI
VZERIE
VIVITVZIV=r,Itr,t= (r, tri) I

Itenue, Re-retry



PARALELL -
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The current that flows through
both resistors is*
ButHevoltage-

dropacross each

is the same,namely, •
Hence they are connected in
parallel =


